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Min P=3*(w+z)+4*(x_1+x_2+u_1+u_2)+8*(y_1+y_2+v_1+v_2)
S.T:
X 1+y 1+1=10+w;
u_l+v_1+2=15+z
X 2+y 2+w=12;
uz2+v_2+z=14
x_1+u_1<=25
X_2+u_2<=25
2*%(x_1+y_1+w) + 3*(u_1+v_1+z) <=90;
2*(x_2+y_2) + 3*(u_2+v_2) <=60; X_i, y_i,u_i,v_i>=0(i=1,2) w,z>=0
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Min z=400*(x_1+x_2+x_3+x_4) + 450*(y_1+y_2+y_3+y 4) +20*(p_1+p_2+p_3)
10+x_1+y_1=40+p_1;
p_l+x_2+y 2=60+p_2;
p_2+x_3+y_3=75+p_3;
p_3+x_4+y 4=25;
x_1<=400 ; x_2<=400 ; x_3<=400 ; x_4<=400;  x_i,y_i>=0 (i=1,2,3,4); p_i>=0 (i=1,2,3)
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Max z = y+25*x
S.T:
y>=2x
y<=400
300*x+15*y<=10000 X, y>=0
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max z= 5*x,+4*x,+3%*x3-2*y-w
s.t:
2*x+3*Xx,+x3 =300 +y —w x>=0 (i=1,2,3); y,w>=0
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